
- -. 

~ ~3lT ~ lTRrnCfl ~ ~ ~m ~Rl Cfl1 3lUflf.l ro ~ ~m ~ 
~ ~ lf1J. ~ Cfl1 fcl~~tiOI Fcntn lFll t I fcl~~tiol ~ ~TJ1l 3JUl1R it ~~ 

CflT 'l::lIR ~ ~ ~ ~ lfIr ~ I 
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~~ 4.01 

f4<aI~J:j ffi?ffan 91T ~ "tr"~ ~1~Cflctl llUi1i1'i 

~ ~ 

~~ 60 97.37 23·65 

3.49** 'BT~ ~ I 

mro~ 60 83·05 21.11 

df = 118 * p > 0.05 = 1.98 

p > 0.01 ** 2.62 

~: <lQ :J;t qRCfl0F1I 31t4)CflI{ ct! ~ ~ I 

qRCfl«<l'i1 ~ - 2 

(1) 'BTfu~ 

( 4) aft ~:iWl Cfl 

(7) crfCf 

(10) lJ.~ (.~*~ 

(2) ~ACl) 

(6) Cfl~I('+iCfl 
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~ ~ 3ij9-1lT Fcl£:lI(,FI ~ m~ ~ T( 9)~fI 9 cl'!' tzci 12 cl'!' 

T( 3{UjlFRCl 3{f~ m?rT311 cfiI ~ ~ ~\1rcn ~~ 1{ ~ <nft men t I 

~~ ~ 4.02 

fcrm~ ~an Cfi1 ~ 1Ii)1I~ (11~Cfldl tttllttl'i 

~ ~ 

~ 1J'[qf 60 8·84 1'.37 

~ 3{fl';'{ll ,82 NS 

I mctm 60 9,13 4.25 

df 118 * p < 0.05 = 1.98 

P < 0.01 = 2.26 

~ 118 'R "i)" Cf)l 11T<f .82 t I "IT fop O. os ~ cF\ ~ 'R 

~r.lCfl ~ t I <iQ 3RR CjR~FclCfl <nfl' t I Ol~ ti~ B '3,rn t' I 

31cT: "lffi ~ 4RCfl iA"1l ~ cF\ '\JfRTl t _~ 
29 



3f.1GR )ll"Cij 3TI9;p:f fcl~10~ Q,ct m~ fcl~IWl ~ q:;~ 9 clI' ~ 12 ell' ~ 

3fUllFRd 3IIRClI~ ~3Il ~ ~~lfrtCfldl ~ 6lllClBlf1lCfl ~ -ij 3ffi ~ men ~ I 
"' 

~~4.03 

- . 
i4?OlIWl ~3n CfiT IrUlJIH - 1)llTfUm "i1"~ -m?~ 

~ ~ 

3f.1GR lJlCd 60 9.70 3·18 

1.28 NS 

~IIBchI~ 60 10·43 3·05 

df =- 118 I' < O.OS 
* I .98 

O 05 = 2.62** p < • 

~ (df )1.18 LR: "i'l" CfiT l1R 1.28 1WIT lT1TI, vfr ~ O. 05 ~ 

~ ~ 1:f{lT% '1@ ~ I "l1Q 3RR ClI~fc1Cfl '1@ ~, ~~ ~~ "fl If?:crn ~ I 
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- -. 

\If{'fR ~ 4·04 

fcj{lIW"1 ~aiT CflT ~ Iltrll~ ~ JiUlJiH 

~ ~ 

3T¥R~ ()O 10.C)2 ~·55 

3ffl'.1ll fCl 'Q I ~ Ll NS 

0.80 
~CtT<l fcl'QI~Ll 60 11.43 3.56 

* df = 118 p < 0.05 = 1.98 
** P < 0.01 = 2.62 

(df) 118 0/ "tr" CfiT llR 0.80 ~ 1f11l vfl 0·05 ~ cfiT ~ 0/ Uf% 

rr@ t I "1:ffi 3TcR ClI~RlCfl 3TcR rr@ t ~ ~~ ~ ~ ~ I 
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~ ~ 3TP'-llf fcl~IWl ~ WB~ ~ ~ 3l~ 3TT~ ffi?iT3iT ~ 

llRfuCfi ~ ~ ~ffi ~WtCfi ~ +l aRR -;:ffil men t I 

~ ~ 3TT~ fq~I~~ ~ WBct'm fcl~I~~ ~ ~ ~ ffi?iTan ~ . 

9m1RCfi 6llC!(1IfLlCfi ~ "B alw men t- I 

fcl?ll~~ ffi?iTanCfiT ~ "il"~ "BT~ liUlliH 

~"@l( fcrilwl 

~~ 60 4.<)() 0.02 

3TT9,1l{ fcl~I~~ NS 

O.~4 

m~ fcl~I~~ 60 5·52 9.86 

df = 118 * P < 0.05 = 1.98 

** P < 0.01 = :1..62 

df = 118 LR "tT" CfiT l1A O· ~4 cw:n 1J11T I \1ft o· 05 

~ chl ~ "CR: '~n% ~ ~ I <rQ alw c!1@~Cfi 3TcR ~ t-, ",f'~ ~<Wr "B 

31cf: <m Wl \3'1 llRCfi~q'il ~ ~ ~ t- I 
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"BRUft ~ 4.06 

fcl~:uw:~ ~anCllT If'€4lflii ~ "i\""~ ~ 

~"@U ~ 

~~ 60 4.90 9.62 

3lTl'-l+{ fcRII W~ NS 
0·34 

D ~ ~1I~cnl~ -;~:11~~ 60 5·52 9·86 

df = 118 * p < 0.05 = 1.98 

** p < 0.01 = 2.62 

- 
~ I <:fQ 3{(R ClR--cl~Cl 3{(R ~. ~, ~ ~"[jT1l ~ ~~ ~ I 
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~ ~ 31P'~ fcl~l<;ijl"l ~ ~~ fcro1Wl -B 31~.-Rq_ 311~~ ~3il ~, 

Cf)<;iIl,JiCfi c:<:ITCfBm ~ -B 3fcR -.,tt men t I 

~~ ~ 4.07 

~~ ffi?lTaiT Cf)J ~ "tI"~ ~I~<fldl 'l'Uliii"'l 

"B@"ll ~ 

3l¥R ~ 60 5·82 3·50 

.3IT~ fcl~IW"l 
1·14 NS 

~~ fcl~I<;iIiOj 60 6.58 3.83 

df = 118 p < 0.05 
P < 0.01 = 

* = 1.98 
** 2.62 

df = 118 'R "tI" Cf)l lW! 1.14 -qp:n lfIlf vn O· 05 ~ 

tl 
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~RdiT ~ - 4.08 

Pcl'QI<1l1 ~3iTCfil ~ "it"~ BI~Cf)dl ~ 

~ ~ 

~ 1)lCd 60 4·<)0 3·47 

3ns'.1l1 Pc!{IIWl -:-_ 
1·02 NS - 

m~ fcWIWI 60 5·52 3.06 .. 

df = 118 * p < 0.05 = 1.98 

I' < U. U 1 
·A * 

2.G2 

df = 118 1:R "it" Cf)[ ~ 1·02 -cw:n 1f1TI vIT O. 05 ~ ctt ~ 1:R ~l$p 

~ ~ I 'TI? 3icR ClR.:aPclCf) 3RR rmI' ~, ~~ ~ITTll ~ ~ t 1 
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~Rtfi) ~ - 4.09 

Pcl~IWl ~3iT <liT 1{U:IllR ~ 1I~11~ ~ 
~"€lIT ~ 

3T¥A" ~ 60 6·97 3.24 

3TT 9..p:f Pcl ~ I <'Ill 
0.34 NS 

~1l~et111 Pcl~I~ll 60 7.1S 2.74 

df = 118 * p < 0.05 = 1.98 

** P < 0.01 = 2.62 

df = 11_8 "CR "~" CfiT l1A 0·34 1:ffllT 4flTT vfr O. 05 ~ ~ 'j,i?: l:R W% 

~ ~ I <lQ 3lcR ClIWPclCfi 3lcR ~ ~ I ~ ~<M -(l ~ ~ I 

- - 
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"BRUiT ~ - 4.10 

fcl\!JI~FI ffi?lralT ~ +lU!+l!'i ~ IltIl'~ ~ 

~ ~ 

~~ 60 10·78 4.09 

arr~ M\!JI\i1q 
0.47 

m~ fc!\!JI\i1Q 60 11.12 3.61 NS 

df = 118 p < 0.05 * 1.98 

** P < 0.01 = 2.62 

df = 118 0/ "ti" Cfil +wl 0.47 'WTI 1fllT ~ O· 05 ~ ct1 1~ 0/ "Bm 

~ t I <:fQ ~ ~lhlfc1Cf) ~ ~ t, _~~ ~~ -B ~ t I 
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3~ ~ 3TI9-lli fcj{t10L1 ~ mctm fcj{t10L1 11 3l~ ~ m:n3iT cfi1 

t(Fw~1 "B~ ~m ~ .r 3TcR rffil mar t I 

~~-4.11 

fcj{tIW:~ ~an9)l ~ "tt"~ ~1~Cfldl ~'UJ~1"1 

~ ~ 
-- 

3l¥R~ 60 7.77 4.08 

3TI l';1+f fc1 {t 10 LI 
0.96 NS 

mctm fcj{t101:l 60 8.42 3.28 

df = 118 * p < 0.05 = 1.98 

** P < 0.01 = 2.62 

df = 118 1:R "tt" 911 llR 0.96 LiT<lT <rn vn O· 05 ~ cfi1 
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3l¥R ~ 3lT~ M{lI~;II:j l{' Cfl~ 9 c1I ~ 12 c1I ~ 3{~ ~ ~aiT 

ChI llRfuCfl ~ ~ ~m ~Rl ~ -e~ ~tl '1tT m ~ I 

~RUO ~JiCfl - 4. 12 

-.13 

N = 60 * p < 0.05 = .273 

df = 58 ** P < 0.01 = .354 

~ 0/ "Br4cfl ~ t I <:fQ tffi ~*~ CjI~MCfl ~ ~~ <ffif ~, er~ ~<ITrr "ft ~ 

tl 

3lCl": <:fQ :Q:! \1'1 '1RCfl,,"q'il ~ ChI \Jffil'r ~ I 
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~~ - 4.13 

* p < 0.05 = .273 

-.11 

N = 60 

** df = 58 p < O. 01 = . 354 . 
df = 58 'R ~ )llqf 3ll'.f{ fCl~I<14 -B 3{~ ~ ffi?IT~ ~ SiHfBCfl 

~ ~ ~lq("lI~Cfl ~~ ~ .11 CfiT ~ ~~olk'SiCfl "{IQ" "{i~~ wn 1f4T ~ ~ O. 05% ~ 

~I 
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flR1ltr ~ - 4.14 

-.09 

N = 60 * p < 0.05 = .273 

df = 58 ** P < 0.01 = .354 

~I 
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- -. 

~~ - 4.15 

l. ~ 

N = 60 
* p > 0.05 = .273 

df= 58 ** P < 0.01 = .354 
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~ ~ 3{lS>-lll ~{ll('t£l -?( 3TUlLli1{CJ_ ~ -m?lT3ff ctT lll""lfucp mnrcrr ~ 

{':H!,JOj"h "Cfil7.il "B~ ~ ~ .r "B"Q "BGjoq -.ml. mar t I 

"BT{lffr ~ - 4.16 

.02 

N = 60 

df = 58 

* p < 0.05 = .273 

** p < 0.01 = .354 

tl 
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~ ~ 3lT9~1{ fct'QI(,P"'l ~ 31~ 3n~ ~m cfiI 1lT'l~rCfj <TITl@ ~ 

Cfl('lI,l1Cfl CfiT<fY -B~ ~m ~~ .r ~Q -B<if'q ~. m ~ I 

SJIrfi'r ~ - 4.17 

-.21 

N = 60 * p < 0.05 = .273 

df = 58 ** P < 0.01 = .354 

df = 58 lR ~ ~ 3ff.Ff fct'QIW~ ~ 3f~ ~ ~m cfiI "l1FffuCf) 

~ ~ Cl!1C{(iI~Cfl ~ .r ·21 CflT Rkf "fi0I!,l1Cfl $ ~tI LfTIIT <rn t" vTI 0.05% cfiI 

~ lR ~T$n -.m1 ~ I <:fQ $ ~tI C!TfDm $ ~ o%l ~, ~ ~ ~ ~ 

~I 
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- -. 

31¥R 1)Rf arT9;ll1 f4~I~1l1 ~ 3l~ arT~cm.n TIT?ll3i1 ~ ~ (~~~.) 

.CfiTlif \i~ czncmm ~M ~ TfArBCl) <nTlldT ~ "f1'Q "fi~'q ~~'r Qtrr ~ I 

"BRUit ~ - 4. 18 

.15 

N = 60 

df = 58 

* p < 0.05 = .273 

** p < 0.01 =, .354 

df = 58 LR 31¥R ~ arT9-111 f4~I(111 ~ 3l~ ~ ~3i1 ~ lWfrBCl) 

<frnrcn ~ czncmm ~ ~ .15 CflT ~ EHI,l1Cfl "f1Q ~'q 11Tl!1 <p:f[ t vn O· 05% ~ 

~ LR ~T~ ~ ~ I "llQ ~Q "{i*:r cll~~Cfl ~ "fi~ ~ ~ I fi "fi$T -€ ~ 

~I 
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~ ~ 3TI?ill fcli1l~jll ~ 3lUjIOFRCJ. 3TI~ m;nan em lJTf1ftrCll mntdl ~ 

~ ~ m ClllcRlIf£lCfl ~ # ~Q tiGt'Cl rffil men ~ I 

~~ - 4.19 

- .. 32 

N = 60 * p < 0.05 = .273 

df = 58 ** P < 0.01 = .354 

d f = 58 LR' ~ ~ 3TI9.f! fcro1Wl ~ al~ ~ m;nai)' em lJTf1fuCfl 

~ ~ ~~ ~~ # ·32 <:fiT .. R8 *oll\~Cfl ~Q ~~'Cl Lffi:IT 1fI01[ t' \Jfi 0.05% em 

~ LR ~T'4Cfl rffil ~ I Iffi '{1Q' \ic:.r'Cl Cl~m ~ \i~'Cl ~. t, Gl~ \iIlPT ~ 1f2:crn 

~ I 
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3l¥R ~ 3lT~ fclill(1l1 Ti 3lUll1<1(Q_ ~ ~3lT ~ l1RfuCfl mnrcn ~ 

(i1~I\ZliCfl ~ ~ ~lq(ilf4Cfl ~ ~ "(i~ ~~'tl -.,m men ~ I 

~ ~ - 4.20 

·23 

N = 60 

df = 58 

* P < 0.05 = .273 

** P < 0.01 = .354 

• 

# 11{ "(iT~ -.,m ~ I <:ffi"f:lQ ~'tl ~ ~ ~~ "<1"@ ~, ~~ ~<WT -B 'lrn 

~I 

47 
- '-. 



~ ~ 31T~ M{lIW~ "B *'~ 3I1RC1I~1 ~OiI ctt 1fRfuCj) m-rrrcrr ~ '!Q 

~ "B ~~~ c:<:fTCruTm-cfl ~~ ~ 'f1"Q ~'q -;:ffit Qtw ~ I 

~~ - 4.21 

.02 

N = 60 * p < 0.05 = .273 

df = 58 ** P < 0.01 = .354 

~ ~ czncrom ~ ~ .02 9)1 Rkl ti~ W ~'q -qp:n <mr ~ ~ 0.05% ctt 

~ lR '~IT% r® t- I "lTQ ~Q ~at'q C[@~ w ~~ r® t- I Gfw. ~"llllf "B ~~ 

~I 
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czrrcroWfcp ~ -B 10 t:[Cc.f) ~, 3Kf: ~ ~ CfiT JOlHfB'f; <frl1:R1T "fI ~31 3lWT 

"B~ -B~'tl ~ ~ \3'1 qRCfl"q'iaIT CfiT RJOJTur ~ ~ ~ I 

~~ - 4.22 

·10 

N = 60 * p < 0.05 = .273 

df = 58 ** p < 0.01 = .354 

df == 58 0/ :~lH.1~ fcpJTZ'ftf -i'j' 31~! 31l~CjRIl f§l?ll3n ;f,) TJAfti91 liTTq~ll ~ 

czrrcrom m ~ .10 CfiT ~ tl'iI,JOlCfl "BQ ~~'tl Lffl.ll ~ ~ \Jfi O. 05% ~ ~ 11<: 

"Bl~ ~ ~ I <rQ ~ ClI~filGh 3Rn: 'TIft ~ , Gf~ -{i!lPY "fI 1m ~ I 

3Kf: <rQ "W! \3'1 qRCfl01'i I ~ ~ \1ffi1t ~ I 
.•. 



~Ctr<:T fcrmw:r ~ 3T~ 3~ -m:n3IT ctr +1RfBCfi mnrm qci ~~ 

~~~mmit~Q~'q~mcrr~ I 

"{1~ ~ - 4.23 

·11 

N = 60 

df = 58 

* p < 0.05 = .273 

** P < 0.01 = .354 

- -. 

czrrcrom ~ it . 11 CfiT ~ 'cHI\~Cfl ~ ~~q 1:fl1n 1flIT ~ un 0·05% ctr ~ 11\ 

~% ~ ~ I <:ffi 3TcR ~fClCfi 3iw rffil ~, ~~ "B<il<T ~ 'l~ t" I 
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WB~ ~ r( 3l~ 3lTfuc1roi ffi?fF~iY ~ llAfBCfi <TITITill ~ wnrofrtcp 

CfiTtlT ~ ~ ~m ~ ~ ~m ~~'q ~ men ~ I 

"BRdi'T ~ - 4.24 

·04 

N = 60 

df = 58 

* p < 0.05 = .273 

** P < 0.01 = .354 

df = 58 'R ~IIBeMq fcl'm~q r( 3l~ 3lT~ ffi?IT3TI eM llFlfuCfi <TITITill ~ 

C4IClBif£tCfl ~ +l ·04 CfiT Rkf 'CHI,iJCfl ~Q ~~'q '1l<:f[ <fln ~ \iff 0.05% -eM ~ 'R 
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~~ ~ - 4.25 

.23 

N = GO 

df = 58 

* 1.-' < 0.05 == .273 
** P < 0.01 = .354 
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~~ - 4.26 

-- -. .17 

N = 60 

df = 58 

* p < 0.05 = .273 
** P < 0.01 = .354 
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~~ M~IW:j li 3l~ ~ ~an Cfi1 Jil'ifBCfi -1:j)"ITIdl ~ Cfi01~Cfi III 

{41'cP~1\JiCfi Cflfl1T "fI ~~ CZlIClBIRlCfi ~~ ..r ~Q *itt ~ men ~ I 

~RUit ~ - 4.27 

.04 

N = 60 * p < 0.05 = .273 

df = 58 ** P < 0.01 = .354 
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$WI~'rl1 fc1?JI(111 ~ 3~ 3n~ f9l?IT3n r:f,1 TfT'lf{Fli 7.\lTITW n:ci '[>h "fiTTIT "(I 

~ ClII'7RII~Ch ~ II BQ ~'q ~ men ~ I 

~~-4.28 

.23 

N = 60 * p < 0.05 = .273 

df = 58 ** P < 0.01 = .354 
- - 

'. 

df = 58 CR ~otrl M?JI~ll il 3{~ 3TI~ ~ail cfil llAfuCfl ~ ~ 
"\ 
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~~-4.29 

.07 

N = 60 - -. * p < 0.05 = .273 

df = 58 ** P < 0.01 = .354 
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~ ~ - 4·30 

.1') 

N = 60 

df = 58 

* p < 0.05 = .273 

- -. ** P < 0.01 = .354 

~m ~ +f .19 CflT f.:p::;, ~~ ~Q ~~ '1T<n lfl1[ ~ \ill 0.05% ChI ~ "CR 

~% ~ ~ I <rQ m CjI~fc1Cf) m ~ ~, ~~ ~ril<T "B 'li?:cr.rr t I 
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\rCl qRctl 0Fl I ~ - 10 

~~ - 4.31 

·08 

N = 60 

df = 58 

* p < 0.05 = .273 

** P < 0.01 = .354 
._ '-. 

df = 58 'R ~1I~Ftll4 fcI?Jl~q 1'( 3f~' ~ "§f.i{f3IT ctI l1T'1fuCfl ~ lJ;cf 

6J11C{~lf£lCf) ~ .r ~ 08 CfiT Rk1 ~'iI\SiCf) ~ ~'C( '1I<n 1f1:IT t vfr 0.05% ctI ~ 'R 

"BT~ rrtft ~ I <m 3lw C{1~fclCf) 3lw. rrtft t, 'O{~ 'B<WT ~ ~~ t I 
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